

Ref: MDIM/Admin/NIT/CIVIL/2022/LIMITED TENDER/01

Date: 29th June, 2022

Notice Inviting Limited Tender

To			
		-	

Management Development Institute Murshidabad invites sealed quotations in prescribed form (Annexure-I) from the contractors for the urgent Renovation of a class room with ancillary works at MDI Murshidabad campus, Kulori, Post: Uttar Ramna, P.S. Raghunathganj, Dist.: Murshidabad, Pin:742235, WB, India.

Sub: Limited Tender (Two bid system) for "Renovation of a class room with ancillary works" at Management Development Institute Murshidabad Campus."

- Every bid should contain 3 envelopes. Envelope 1 should contain Technical Bid Documents Clause (10), and should be super scribed as "Technical Bid". Envelope 2 should contain financial bid (Annexure-I) and should be super scribed as "Financial Bid". Envelope 3 should contain Envelope-1 & 2 and should be super scribed as "Renovation of a class room with ancillary works" at Management Development Institute Murshidabad Campus."
- Bidders are invited to quote percentage rate on enclosed format (Annexure-I) [Envelope-2: Financial Bid].
- Bids received with incomplete information are liable for rejection.
- Bids received after deadline of submission will be summarily be rejected.
- Financial bids of the technically qualified bidders will be opened. Lowest bidder in financial bids will be considered for award of the work order.

Important Information:

1. Scope of work:

: Refer to the attached Annexure-I.

2. Time allowed for completion

: 30 days

Last date and time of receipt of Quotations.

: 06.07.2022 (4.00 P.M)

Page 1 of 7

Day 29/2/22

 Address at which the quotations are to be submitted

:Registrar, Management Development

Institute Murshidabad, Kulori, Post: Uttar Ramna,

P.S. Raghunathganj, Dist.: Murshidabad,

in:742235, WB, India

To be dropped in the Tender Box kept at Reception.

5. Date and time of opening tenders

: 06.07.2020 at 4.30 P.M.

6. Place of opening tenders

: Registrar's office, MDIM

7. Validity of offer

: 21 days from the date of opening the tenders.

- 8. All the rates shall be quoted in the prescribed format attached as Annexure-I. No other format for submission of bids shall be acceptable.
- 9. All pages of the Limited Tender document should be submitted duly signed by authorized person.
- 10. Mandatory claude (Should be submitted along with Envelope-I Technical Bid: The bidders should mandatorily submit following documents as attachment along with the Technical bid:
 - a) PAN (Submit copy)
 - b) GST Registration certificate (Submit Copy)
 - c) Trade License (Submit Copy)
 - d) Up to date PTax Certificate and Challan.
 - e) Experience of having successfully completed similar works during the last Seven (7) years ending initial stipulated last date of submission of tenders as per NIT: a. Three similar works each costing not less than 40% of the estimated cost put to tender. OR b. Two similar works each costing not less than 50% of the estimated cost put to tender. OR c. One similar work costing not less than 80% of the estimated cost put to put to tender. "Similar works shall mean "Construction of Building (Commercial or Residential) of any no. of storeys or part". (Submit Copy).
 - f) Financial strength: The Average annual financial turnover for last 3 years shall be at least 40% of the estimated cost put to tender. Submit 3CA & 3CD form: Income tax return along with technical bid with Agency Seal/ signature.
- 11. Bids received with incomplete information as stated in clause (10), are liable for rejection.
- 12. Laws of Republic of India are applicable to this tender.
- 13. Liquidated damages: 0.50% (Zero point Five Percent) per week or part thereof of the work order value.

14) Payment terms:

- No advance payment would be made to the agency.
- O No Running account bills can be raised by the agency.
- Payment would be made as per the actual quantity executed and measured at site.
- Income tax and other statutory payments as applicable will be deducted from the bill of the bidder/agency at applicable rates as per the rules in force.





Deur Pr

- 15) The MDIM Engineer shall have powers to require the removal from the site of all materials and work which in his opinion are not in accordance with specifications and in case of default, the Engineer shall be at liberty to employ other persons to remove the same without being answerable or accountable for any loss or damage that may happen or arise to such materials to be substituted thereof and in case of default the Engineer may cause the same to be supplied and all costs which may attend such removal and / or substitution are to be borne by the contractor.
- 16) MDIM shall be at liberty and is hereby empowered to deduct the amount of any damages, compensation costs, charges and / or expenses arising or accruing from or in respect of any such claim and / or damages as aforesaid from any sum or sums due to become due to the bidder/agency.

REGISTRAR

MDI Murshidabad



Annexure -I

To,
The Registrar
Management Development Institute Murshidabad
Kulori, Uttar Ramna, Raghunathganj.
Dist:- Murshidabad, West Bengal – 742235

Request for quotation (RFQ)/Call for Bids

	BILL OF QUANTITI	ES (WITHOU	JT GALLE	RY)	
Sl. No.	Description of items	Quantity	Unit	Rate	Amount
	CIVIL WORKS DSR:2021:12.58: Providing and fixing false ceiling at all heights with integral densifiedcalcium silicate reinforced with fibre and natural filler false ceilingtiles of Size 595x595 mm of approved texture, design and patterns having NRC (Noise Reduction coefficient) of 0.50 (minimum) as per IS 8225:1987, Light reflectance of 85% (minimum). Noncombustible as per BS:476 (part-4), fire performance as per BS:476 (part 6 & 7), humidity resistance of 100%, thermal conductivity < 0.043 W/m K as per ASTM 518:1991, in true horizontal level suspended on interlocking metal powder coated T-Grid of hot dipped galvanised iron section of 0.40 mm thick of length 3000 mm, cross - T of size 15x42 mm of length 1200 mm and secondary intermediate cross-T of size 15x42 mm of length 600mm to form grid module of size 600 x 600 mm, suspended from ceiling using galvanised mild steel items (galvanizing @ 80 grams per sqm) i.e. 50 mm long, 8 mmouter diameter M-6 dash fasteners, 6 mm dia fully threaded hanger rod upto 1000 mm length and L-shape level adjuster of size 85x25x2 mm. Galvanised iron perimeter wall angle of size 22x19x0.40 mm of length 3000 mm to be fixed on periphery wall		SQM	Rate ₹ 2,055.65	Amount ₹ 3,02,386.12



16 mg/

Г		1,				
		/ partition with the help of plastic rawl				
		plugs at 450 mm center to center and				
		40mm long dry wall S.S screws. The				
		work shall be carried out as per				
		specifications, drawing and as per				
		directions of the Engineer-in-Charge.				
		26.23.1 With 15 mm/ 8 mm Gypsum				
		false ceiling tiles of Size 595x595 mm				F VIII SEE SEE SEE
		of approved texture, design and	The state of			
		patterns having moisture content less				
		than 2%, humidity resistance of 99%,				The Market Street, St.
		NRC 0.50 to 0.75 as per IS 8225:1987				
		thick integral densified micro edge				
		light weight calcium silicate false				
		ceiling tiles.				
	Single	DSR:2021:13.85 Applying priming				
		coats with primer of approved brand				
		and manufacture, having low VOC				
	2	(Volatile Organic Compound) content.	180	C	T	
		13.85.3 With water thinnable cement	100	Sqm	₹ 64.45	₹ 11,601.00
		primer on wall surface having VOC				American Company
		content less than 50 grams/litre				
		DSR:2021:DSR:2021:13.60 Wall			A Local College (1997)	
		painting with acrylic emulsion paint of				
	3	approved brand and manufacture to	180	C	¥ 100 65	
		give an even shade :13.60.1 Two or	100	Sqm	₹ 128.65	₹ 23,157.00
		more coats on new work				
		DSR:2021:13.11: 18 mm cement				
		plaster in two coats under layer 12				
		mm thick cement plaster 1:5 (1				
	4	cement : 5 coarse sand) finished with	21	Sqm	₹ 442.75	₹ 9,297.75
		a top layer 6 mm thick cement plaster				
		1:6 (1 cement : 6 fine sand).				
		DSR:2021:4.2.2: 1:1½:3 (1 cement :				
		1½ coarse sand (zone-III) derived from				
	5	natural sources : 3 graded stone	4.94	Cum	₹0.702.75	7 10 001 10
		aggregate 20 mm nominal size derived	7.24	Cum	₹ 9,793.75	₹ 48,381.13
		from natural sources).				
		DSR:2021:5.9.4: Centering and		95.41		
	,	shuttering including strutting,				
	6	propping etc. and removal of form for	9.5	Sqm	₹ 766.55	₹ 7,282.23
		:Shelves (Cast in situ)				
		DSR:2021:13.8: Providing and				
		applying white cement based putty of				
	-	average thickness 1 mm, of approved				
	7	brand and manufacturer, over the	21	Sqm	₹ 115.15	₹ 2,418.15
		plastered wall surface to prepare the				
		surface even and smooth complete				



	DSB-2021-8-2 B : 1: 1 2 :				
8	DSR:2021:8.2: Providing and fixing 18mm thick gang saw cut (premoulded and prepolished) machine cut for kitchen platforms, vanity counters, window sills, facias and similar locations of required size of approved shade, colour and texture laid over 20mm thick base cement mortar 1:4 (1 cement: 4 coarse sand) with joints treated with white cement, mixed with matching pigment, epoxy touch ups, including rubbing, curing, moulding and polishing to edge to give high gloss finish etc. complete at all levels. 8.2.1.1 Area of slab upto 0.50 sqm	12	Sqm	₹ 4,679.35	₹ 56,152.20
8	DSR:2021:6.34.2: Brick work with non modular fly ash bricks conforming to IS:12894, class designation 10 average compressive strength in super structure above plinth level up to floor V level in : Cement mortar 1:6 (1 cement : 6 coarse sand)		Cum	₹ 7,676.30	₹ 36,923.00
9	DSR:2021:MR-12: Providing and laying Laminate wooden flooring (Grade AC6 or AC6+ laminates) 6 mm to 12 mm thick, having a good backing layer made up of plastic laminate or melamine, core made up of medium-density fibreboard (MDF), which is less resistant to impact damage and less resistant to being dented by heavy furniture, from full gloss to low gloss, duly fixed to the base floor using adhesive as approved by the manufacturer.	147.1	Sqm	₹ 1,937.85	₹ 2,85,057.74
Electr	ical WORKS				
10	Electrical: Supply false ceiling mounted LED panel (50 Watt, 600mm x 600mm) with accessories. Max make.	24	Nos.	₹ 2,100.00	₹ 50,400.00
11	Electrical: Supply false ceiling mounted LED bulb (15 Watt) with accessories. Max make.	12	Nos.	₹ 975.00	₹11,700.00
12	Electrical: Electrical circuit coil with conduit including labour charge for fixing false ceiling mounted lights, making holes in false ceiling gypsum boards, laying and connecting wires, etc, complete in all respects. Polycab make.	11	Nos.	₹ 3,525.00	₹ 38,775.00
Acoust	ics and IT WORKS				
13	Acoustics and IT: Wooden case by Satyam make 18mm plyboards with double self and wooden polish.	1	No.	₹ 6,200.00	₹ 6,200.00
14	Acoustics and IT: AHUJA make	1	No.	₹ 20,360.00	₹ 20,360.00





	Amplifier [SSB-120DP120]				
15	Acoustics and IT: AHUJA make Ceiling Speaker [CSD-8401T]	8	Nos.	₹ 5,326.00	₹ 42,608.0
16	Acoustics and IT: AHUJA make Wireless Collar Mic with Hand Mic[AWM495VHL]	1	No.	₹ 6,890.00	₹ 6,890.0
17	Acoustics and IT: AHUJA make Podium Microphone [GM615 + GMB 6C]	1	No.	₹ 6,413.00	₹ 6,413.0
18	Acoustics and IT: Standard make Mic Cable with in-out Jack Pin (10 Mtr. Each)	2	No.	₹ 1,109.00	₹ 2,218.00
19	Acoustics and IT: HB False Ceiling Acoustic Board for Speaker	10	No.	₹ 431.00	₹ 4,310.00
20	Acoustics and IT: Standard Cable for Speaker Connection	100	Mtrs	₹ 56.00	₹ 5,600.00
21	Acoustics and IT: One time installation charges including installation of all Accessories fixing like Amplifier, Wireless Microphone, Podium Microphone, Ceiling Speaker with laying of Cables etc.	1	Job	₹ 19,712.00	₹ 19,712.00
22	Acoustics and IT: Epson Business Projector(Standard throw(EB-982W) with ceiling mount kit. 20Mtr HDMI cable, Liberty make (6x8) motorized screen for projector, including installation costing, complete in all respects.	1	Job	₹ 84,927.00	₹ 84,927.00
			G	ross Amount=	₹ 10,82,769.30
	Am	ount after	Deduction	of 12% GST=	₹ 9,52,836.99
		Total amo	unt includ	ing 18% GST=	₹ 11,24,347.64

	Total	Estimated	amount:	₹11.24	.347.64
--	--------------	------------------	---------	--------	---------

Quoted rate	(%)	AROVE	BELOW	the
estimated amount (X). The quoted rate should be inclusive of	of GS	Г.	DELOW	the

Total quoted amount in words (inclusive of GST):

Note:

- 1. For detailed specification please visit Institute before submitting quotations.
- 2. Rate to be quoted including GST, labour & incidental charges.
- 3. The quantity mentioned above are indicative, payment would be made on actual quantity used.



Signature of the Bidder With official seal